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— YR MWIPT IR PTID 2%
For indeed we can redeem with it wTpP7 and “wy»

OVERVIEW

The X3 attempted to derive 0w 1Ip for PP from a 7odn 1"'p, and then
refuted the 1" that 702 has a X7 over W that w"vm wIpn 12 79, Our
mooIN first attempts to disregard this X721 and then offers an alternate 1"p.

nvoIn asks:
— Ly Ypa DYUN N1 Y 9NN ON)

And if you will say; I will place all these concepts into the 1"'{? and say -
— ©33910 %97 959N NOXIN *10N) TWYNY WP 12 PNV 29 Y XY G0 1)

And what if by ne>, which even though it has the advantage that we can
redeem with it "wym»y wp7 but yet it cannot be X2, indicating that the
XN of WIPA 12 P79 1s irrelevant concerning matters of w7PY 170, and
nevertheless (even if it cannot be X°X) it is ©312%, so it follows that a -

— 92395V PTINN NOSI YTPN 12 PN PRY 29 Y GNY 10V
"uvw, which even though one cannot be w7pn 172 with a 0w and
nevertheless it is X%, indicating that lacking the advantage of w7pi 12 1719
did not diminish its capacity to be a PP by (PW17TP1) v, is it not
compelling that 7Y should be 152!

N1B0IN answers:
— 990 P2 03979 PN 91093 12NN KIMINT MY Y)

One can say that an advantage which is written in the %5 (such as 179

7022 wp), cannot be entered into the Y'"'? and be neutralized, for even though -
— 91290 YPa DIWNY NI NI HY NN INTYT

That a X217 based on logic may certainly be placed into the "' and be

neutralized -
- Snbvn NN NIV 91999 135 ¥ H2INaN AN

!'See anav> o "7 2,7 Mmpon.

% Others amend this to read K.

3 The 77N writes (in the mwa9 of [v,12 (CMPR2) XIP7] 1°37w) that 12 opY Yoy 797y A3 nownn Ao, indicating
that w7pn is 132 7791, Concerning w"vn» the 77N writes (712,7° [AR1] °727) that 122 NI,

* The X1 of M¥n 171°7 (which was mentioned in 7n2°2 7 1"7 2,7 N1©OIN) is an example of a X130 YW RN
and indeed it is "2 0121 and disregarded.

> The idea of 1"p2 DwX 13 is to disregard the X there is by the Ta%» (in this case 102) by arguing that we
see the X117 had no effect on the X7 of the 7297 (it is not X*¥11), therefore it has no effect on (and is not
the cause of) the 1°7 of the % (that it is 0°101) and we can derive that 70w is also 9°1o1 even though it does
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However a X7 that is written in the 770 we are to assume that this

X1 causes the advantage which we wish to derive and limits this 799 to the
place where there is the 77102 721027 X0m.

MooIN asks:
— D391 290 19AN MINI¥IN IPIRY MYPIPNI 99N 5‘,7 N1 9NN ON)

And if you will say; and let us make a 1"'? from ‘land’ which cannot be

NX" a woman from her husband, nevertheless it is ©%19% a woman to her
husband -
—ymama Snweann nNY T¥papa NUN YTPY 9199 01T Suro

The explanation of this statement that ¥p7p is ©°101 and not XX, is that a
man can be w7?» a woman with 799, but she cannot be divorced with

YPap. It follows that 7vw which has a X711 over ¥pap since it can be used for w177, it
should surely be valid for Pw17°p.
— YTPN 1 1719 19V 799919 XY 0NN

And by yp7p we cannot refute the 1"p by saying that ¥pap has a X717 over

"W for it can be used to be WP 179, because wIpA cannot be 7791 with ypap,'°
only with P2u%vn. This would seem to be an irrefutable 1"p.

N1B0IN answers:
— 90WA 98N 1R PYVYVI PN 1Y ¥PIPY NN 71935 NIONT 1Y U

And one can say; that we can refute the 1"p. For ypap2 can be used to

acquire P>uyun through it; can you say that concerning “ww. One cannot
be Pououn oy through quw.'? Therefore, ¥pp, since it has the X1 of 23X PIp hence it

not have this ¥ m11. However n1901n maintains it is not so concerning the X117 of w"¥m MWTPI 12 77D PW;
for since this X717 is 7702 72100 this proves that it is a significant X717 and any 17 which we find by the
T may be attributed to this X1, and whoever does not posses this X1 (in this case qvw) cannot have
this P7 of ©°10n. The fact that it has no effect on the 873 of the Tn%% does not detract that it is a X217, [It is
merely that the 7710 decided that in spite of this X1 it can still have a X7p.] However by a &720n Xm0
(such as " Jp°17), we can argue that since we see that it had no effect on the X7, perhaps it is not
considered a X717 at all in the eyes of the 777n.

% Perhaps the word w11’ comes to reject the opinion of others that a woman is not ¥pp2 fp2.

" A woman can be nwmpn with ¥pp for it is included in A03 Mw.

¥ Others amend this to read w3 11X

® A woman can be divorced only through a vx written on a movable object.

19 See w02 "7 8,2 Moo that there is a 9931 v12Y 722 from the previously mentioned p102 of [Mo7] (3011)
1% 0P "1 o2 ", which teaches us that w7 can be redeemed only with a Su%vni1 127 (excluding vpp) and
171 1913 (excluding 7vw) as the v15 of 703 indicates.

" 'When there is a transfer of ¥p7p (whether a 7101 or 13n) the original owner of the ¥p7p can also transfer
to the recipient at that point in time (by ‘way’ of the ¥pap 11p) any amount of 1%v7un he so chooses
wherever they are. See later X,12.

12 poubun are acquired either through (77237) 72°wn or 15°51 (and 23X) but not through oW,
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can be 0°10n however 70w which is lacking this X717 cannot be 0°157.

mdoIN anticipates a refutation of this X37°0:
— 1939 PPHVHVN IMINN ON)

And if you will say that "»u>wu» will prove that the x37°5 of J23% Pou0n P1p W
is irrelevant, meaning that in truth even something which is not J23% P2v%vn 7P can still
be 1P by an WX -

— 90V NN 2N 9N 5192201 HIHININI 1IN 12N PP PRY

For 150501 cannot be 33 other 1%u5%un with 238 1°Ip (as Y7 can) and yet
even though they are not X2 and are ©°15», I should therefore certainly

include “Ww which even though it has no 23X 1°3p and yet it is XX, so it surely should
be 0101 —

mooIn refutes this 7°01:
P urmn P13 1919 19U 1905015 A MY YN

So we will say >ubun are 0°101 because TP 12 1779, but “vw which cannot be
WP 779 [and cannot be PYu5vn np], therefore it cannot be 1P by an wK.

SUMMARY

A X1 which is written in the 770 cannot be disregarded even if it is
possible to say 1"p2 o°wX 1"2. We cannot derive 0w W1 7p from YpIp TR,
because yp7p has the X7 of 723aR 120507 P3P 1DW.

THINKING IT OVER
1. Is there a 71p by mwX w1 which is called ypap 11p?"°

2. Is 23K 710 a RNIRT 1Ip?'°

" The logic of the refutation of this v is that indeed the reason ¥pp is 0°1» is as originally stated
because it is 1238 11 and W cannot. The reason 1717117 is 0°197 (even though it is not 123X 1"177) is because
it too has a X117 of Wi 12 1°710; however 70w which has neither X727 cannot be derived from this 1"p.

'* At this point, we would usually say 7310 ¥p7p that it is not w7pn 779 and still ©219», to which we would
respond 723X P70 PP 19w YRR 1, and then follow with w701 12u%un and have the inevitable mw: 7¥ of
ypp and 1°2ubvn that they are Xn2v2 nnp and 719 here by Wy, so too Tww which is X2%¥2 anp should also
be 71297 here. The reason we do not make this mWw: 7% is because we can refute a 7w 73 with a 1777 92 X379
(a minor X2>79) and argue that the mwn 7% (of PouHwA ¥PIP) is 721 AR (she receives something of
value) therefore it is 1P by WX, however by 7w there is no nX17 therefore it is not 7wWR2 A1p.

15 See "k footnote # 74.

10 See 0"wi 9.
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